
E 3601-0215

1

2

3

4

4

5

6

7

8
9

10

11

12

13

14

15

16

17

18

19

20

20

21

22

23

24

25

26

27

28

29

30

31

32
33

34

35

36

37

38

39

40

41

MA= 120Nm

MA= 120Nm



E 3601-0215 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11001722   31 1 25034025  DIN471-A15x1,0 

2 1 11001220   32 1 20013275   

3 1 25015017   33 1 21000909  DIN908-M10x1 

4 2 21000941   34 1 25008004  DIN7603-10x14x1 

5 1 25034022  DIN471-A45x1,75 35 1 11001726   

6 1 11001218   36 1 11001478   

7 1 11001219   37 3 25044006  DIN912-M8x25 

8 1 11001101   38 3 20029011  VSKZ 8 

9 1 20029030  SKM 16 39 1 21000898  CCD 2.0 

10 3 25044005  DIN912-M8x20 40 4 25044080  DIN912-M5x25 

11 3 20029011  VSKZ 8 41 4 20029006  VSK 5 

12 1 11001723          

13 2 21000979  DIN912-M12x40-10.9        

14 2 25025157          

15 1 11001724          

16 1 11001223         

17 1 25001702         

18 1 25034009  DIN471-A50x2,0       

19 1 25035005  DIN472-J80x2,50       

20 2 21000941           

21 1 11001725           

22 2 21000979  DIN912-M12x40-10.9         

23 2 25025157           

24 1 11001224           

25 1 11001225           

26 1 21000781  DIN6325-8x100         

27 1 25028021  DIN916-M10x20         

28 1 10016387           

29 1 25001703           

30 1 25035018  DIN472-J32x1,20         

01.16        


